
Errata

page 33

• In eqs. (3.37) and (3.38), and in the text line afterwards: for the velocity,
instead of “ϑ” (3 times):

v

page 35

• Eq. (3.53):

|b|2 = |A|2 + |B|2 1

4
I(I + 1)

=
1

2I + 1

[
(I + 1)|b(+)|2 + I|b(−)|2

]
(brackets in the “exponents”: b(+) and b(+))

page 38

• Eq. (3.69):

H = c~α
(
~p− e

c
~A
)

+ βmc2 + eφ

(e instead of `)

• Eq. (3.70):

~α =

(
0 ~σ
~σ 0

)
β =

(
1 0
0 −1

)
(no arrow on β)

page 39

• Eq. (3.79):

~j =
i~
2m

(
ϕ~∇ϕ∗ − ϕ∗~∇ϕ

)
− e

mc
~Aϕ∗ϕ+

~
2m

~∇∧ (ϕ∗~σϕ)

(a “2” too much)

page 41

• Eq. (3.92):

〈β,~k′λ′|T (1)|α,~kλ〉 =
Ze2

mc2
1

(2π)3

2π~c2√
ωω′

~ε (λ′)(~k′)~ε (λ)(~k)δαβ

(a “G” too much)

1



• Eq. (3.93):

〈β,~k′λ′|T (2)|α,~kλ〉 = − e2

(mc)2

1

(2π)3

2π~c2√
ωω′
×

×
∑
ν

[
〈β|~P · ~ε ′|ν〉〈ν|~P · ~ε |α〉

Eν − Eα − ~ω
+
〈β|~P · ~ε |ν〉〈ν|~P · ~ε ′|α〉

Eν − Eα + ~ω′

]
(a “′” too much)

• Eq. (3.96):
1

m
~P =

1

m

∑
j

~pj =
1

i~
[ ~D,H0]

(lower case j)

page 42

• Eq. (3.98):

dσ

dΩ
=
(e
c

)4

ωω′3

∣∣∣∣∣∑
ν

[
〈β| ~D · ~ε ′|ν〉〈ν| ~D · ~ε |α〉

Eν − Eα − ~ω
+
〈β| ~D · ~ε |ν〉〈ν| ~D · ~ε ′|α〉

Eν − Eα + ~ω′

]∣∣∣∣∣
2

(+~ω′ instead of −~ω′)

page 45

• In the text line after eq. (3.116):

I = Z2e2

2a0

(a is not index of 2)

page 46

• First equation:

ξ =
Ze2

~v
� 1

(v instead of ϑ)

page 49

• Eq. (3.133):

−γN
2
µN

e

2mec

(
~pe ·

~σN ∧ ~x
|~x|3

+
~σN ∧ ~x
|~x|3

· ~pe
)

(N is index of γ)

• Eq. (3.134):

−γN
2
µN2µB~σN · ~∇∧

~se ∧ ~x
|~x|3

(N is index of γ)

2



page 50

• Eq. (3.139):

~Q⊥ =
∑
j

ei~κ~xj
[
~̂κ ∧

(
~sj ∧ ~̂κ

)
− i

~κ
~̂κ ∧ ~pj

]
(κ instead of k, 5 times)

• Eq. (3.140): ∑
j

ei~κ~xj~sj =

∫
d3x ei~κ~x

∑
j

~sjδ(~x− ~xj)

= − 1

2µB

∫
d3x ei~κ~x ~Ms(~x)

(κ instead of k, 3 times)

• Eq. (3.142):

−me

e

∫
d3x ei~κ~x~j(~x) =

1

2

∫
d3x ei~κ~x

∑
j

(
~pjδ(~x− ~xj) + δ(~x− ~xj)~pj

)
=

1

2

∑
j

(
~pje

i~κ~xj + ei~κ~xj~pj
)

(κ instead of k, 4 times)

page 51

• Eq. (3.147):

~Q⊥ =

∫
d3x ei~κ~x

{
− 1

2µB
~̂κ ∧

(
~Ms(~x) ∧ ~̂κ

)
+
ime

~e
1

κ
~̂κ ∧

(
−ic~κ ∧ ~ML(~x)

)}
= − 1

2µB

∫
d3x ei~κ~x

(
~̂κ ∧ ~M(~x) ∧ ~̂κ

)
(a missing “−”)

• Eq. (3.150):

~P · ~ε ′ −→
∑
j

e−i
~k′~xj

[
~pj · ~ε ′ − i~

(
~k′ ∧ ~ε ′

)
· ~sj
]

(two missing “−”)

page 53

• Eq. (3.154):

−i ~ω
mc2
〈β~k′|

∑
j

ei~κ~xj ·~sj |α~k〉
[(
~̂k′ ∧ ~ε ′

)(
~̂k′ · ~ε

)
−
(
~̂k ∧ ~ε

)(
~̂k · ~ε ′

)
−
(
~̂k′ ∧ ~ε ′

)
∧
(
~̂k ∧ ~ε

)]
(a missing “〉”)

3



• Text line after eq. (3.154):

(where ~̂k = ~k/k and ~̂k′ = ~k′/k′).

(k instead of κ (twice); a “′” too much)

• Eq. (3.156):

~B = (~ε ′ ∧ ~ε ) +
(
~̂k′ ∧ ~ε ′

)(
~̂k′ · ~ε

)
−
(
~̂k ∧ ~ε

)(
~̂k · ~ε ′

)
−
(
~̂k′ ∧ ~ε ′

)
∧
(
~̂k ∧ ~ε

)
(∧ instead of Λ)

page 57

• In Table 3.2, the entry belonging to Ô and ~p ~A:

i
~κ ∧ ~pj
~k2

(k instead of κ (only once))

page 62

• Eq. (4.7):

1

2

∑
i 6=j

w
(
~X0
i − ~X0

j

)
+

1

2

∑
i6=j

∑
α,β

1

2

(
ξαi − ξαj

) (
ξβi − ξ

β
j

)
∇α∇βw

(w instead of ω)

• Eq. (4.9):

1

4

∑
i6=j

∑
α,β

[(
ξαi ξ

β
i + ξαj ξ

β
j

)
−
(
ξαj ξ

β
i + ξβj ξ

α
i

)]
∇α∇βw

(w instead of ω)

page 63

• Eq. (4.16):

%(~x) =
∑
i

δ(~x− ~xi)→ %~κ =
∑
j

e−i~κ~xj

(second sum over j)

page 67

• Eq. (4.28):

〈~k′, ψf |Hi

(
~ξ, {~x}

)
|~k, ψi〉 =

M∑
k=1

〈ψf |
∫
d3ξ ei~κ

~ξVel

(
~ξ − ~xk

)
|ψi〉

(lower case x)

4



page 72

• Eq. (4.63): (
dσ

dΩdEk′

)
coh

= N
k′

k

σcoh

4π
S(ω,~κ)

(“coh” instead of “inc” (twice); no index on S; κ instead of k (only once))

• Eq. (4.64):

S(ω,~κ) =
1

2π~N

∫ ∞
−∞

dt e−iωt
∑
j,`

Yj,`(t, ~κ)

(κ instead of k)

page 73

• Eq. (4.65): (
dσ

dΩdEk′

)
inc

= N
k′

k

σinc

4π
Sinc(ω,~κ)

(κ instead of k (only once))

• Eq. (4.66):

Sinc(ω,~κ) =
1

2π~N

∫ ∞
−∞

dt e−iωt
∑
`

Y`,`(t, ~κ)

(κ instead of k)

page 75

• Eq. (4.82):
~X` = `1~e1 + `2~e2 + `3~e3, `j ∈ Z

(missing comma; j instead of 1 (only once))

• Eq. (4.83):

∑
`

e−i~κ
~X` =

Nj−1∑
`1,`2,`3

e−i~κ(`1~e1+`2~e2+`3~e3)

=

3∏
j=1

Nj−1∑
`j=0

e−i`j(~κ~ej)


(second line: Nj − 1 instead of Nj−1)

page 76

• Eq. (4.96): (
1

2π

)3 ∫
d3κ

∑
`

F`(~κ)e−i~κ(~x−~b`)
〈
ei~κ

~U`
〉
T

(arrow instead of bar on x)

5



page 79

• In the eighth last text line, instead of “parabloid”:

paraboloid

page 82

• Eq. (4.127):

exp

{
−
〈[
~κ~U
(
~bj

)]2〉
T

}
· exp

{〈
~κ~U
(
~bj

)
· ~κ~U

(
~b`, t

)〉
T

}
(a “−” too much)

page 84

• Eq. (4.140):
C(~x, t) = C∗(−~x,−t)

(∗ is “exponent” of C)

page 85

• “4.” is missing in front of all equation numbers

• Eq. (4.152):

Φ̃~κ(ω) = −i tanh

(
β

2
~ω
)

Ψ̃~κ(ω)

(missing ∼)

page 86

• Eq. (4.154): “4.” is missing in front of the equation number

• Eq. (4.158): 〈
Oα~κ (t)Oβ+

~κ (0)
〉
T

=
〈
Oβ+
~κ (0)Oα~κ (t+ i~β)

〉
T

(a comma too much)

• Eq. (4.162):

Bαβ =
i

2
(Sαβ − Sβα) = −Bβα ∈ R

(two missing “−”)

page 87

• Eq. (4.168):

Φ̃αβ(~κ, ω) = −Φ̃βα(−~κ,−ω) and Φ̃αβ∗(~κ, ω) = Φ̃αβ(−~κ,−ω)

(missing ∼)
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page 88

• First equation:〈
~kχ;λ|σαOα~κ |~k′χ′;λ′

〉
and

〈
~kχ;λ|εαOα~κ |~k′χ′;λ′

〉
(χ is not an index (twice))

• Eq. (4.174):

Oα~κ : ~Q⊥(~κ) =
∑
j

Fj(~κ)ei~κ~xj
[
~̂κ ∧

(
~sj ∧ ~̂κ

)
− i

~κ

(
~̂κ ∧ ~pj

)]
(j is index of x)

• Eq. (4.175):

Oα~κ : ~J(~k) =
∑
j

Fj(~k)ei
~k~xj
[
~pj − i~

(
~k ∧ ~sj

)]
(j is index of x)

• Eq. (4.176):∑
χχ′

pχ
∑
λλ′

pλ

〈
~kχ;λ|σαOα~κ (0)|~k′χ′;λ′

〉〈
~k′χ′;λ′|σβOβ−~κ(t)|~kχ;λ

〉
= Trχ

{
%(i)
χ Spλ

[
%

(i)
λ

(
σαQα⊥(~κ, 0)

)(
σβQβ⊥(−~κ, t)

)]}
(first line: λ is index of p; second line: χ instead of x as index of %)

page 89

• Eq. (4.183):

~Q⊥ = ~̂κ ∧
(
~Q ∧ ~̂κ

)
= ~Q− ~̂κ

(
~̂κ ~Q
)
, ~̂κ =

~κ

|~κ|

(∧ instead of Λ)

page 90

• Eq. (4.185):

i ~P
〈
~Q⊥i ∧ ~Q⊥j(t)

〉
T

=
∑
α,β

iGαβ
(
~P , ~̂κ

)〈
Qαi Q

β
j (t)

〉
T

(missing arrow on P )

• Eq. (4.190):

~Q⊥(~κ) =
1

2
gF (~κ)

∑
j

ei~κ
~Xj
[
~̂κ ∧

(
~Sj ∧ ~̂κ

)]
(j is index of X)

7



page 91

• In the second text line after eq. (4.191):

~M = 1
N

∑
i〈~Si〉T

(T is index of 〈〉)

• Eq. (4.192):

1

N

(
~̂κ · ~P

)∑
i,j

sin
[
~κ
(
~Xi − ~Xj

)]
~̂κ〈~Si ∧ ~Sj〉T

(missing ˆ on κ (only once))

page 94

• In the right table, instead of “~̂k ∧ ~̂k′”

~̂k′ ∧ ~̂k

page 95

• Text line after eq. (4.212):

Here n(~κ) =
∑
j e
i~κ~xj ,

(j is index of x)

• Eq. (4.216):
γN
2

e2

mc2

(
~σN · ~Q⊥

)
(γN = −3.82)

(N is index of γ)

page 96

• In the first text line, instead of “(4.125)”:

(4.215)

• Eq. (4.220):

~P (f) · dσ
dΩ

= Tr
(
%(i)M~σM+

)
(~σ instead of ~%)

• Eq. (4.221):

Tr

[
1

2
(1 + ~σ ~P )Sp

(
e−βH0

Z
MM+

)]
=

1

2
Tr
[
(1 + ~σ ~P )〈MM+〉T

]
(−βH0 is exponent of e)

8



page 97

• Eq. (4.226):∑
~̀,~d,~̀′,~d′

ei~κ(
~X~̀,~d− ~X~̀′,~d′) ~P (i) ×

×
{
|Ā~d |

2 + δ~̀~̀′δ~d~d′

[(
|A~d |2 − |Ā~d |

2
)
− 1

12
|B~d |2I~d (I~d + 1)

]}
(|A~d |2 instead of |A~d |

2
)

page 100

• Item 1), instead of “HCF � HSO”:

HCF � HSO

• Item 2), instead of “HCR � HSO”:

HCF � HSO

page 102

• Eq. (4.253):
γN
2

e2

mc2

(
~σ · ~Q(D)

⊥

)
(N is index of γ)

• Eq. (4.254):

M = A+
γN
2

e2

mc2

(
~σ · ~Q(D)

⊥

)
(N is index of γ)

page 103

• Eq. (4.256):

dσ

dΩ
: Tr

[
%
(
A~σ ~Q+

⊥ + ~σ ~Q⊥A
+
)]

= 2Re
〈
A~P (i) ~Q+

⊥

〉
T

(missing “+”)

• Eq. (4.258):

〈A〉 =
∑
~̀,~d

b̄~d e
i~κ ~X~̀,~d =

∑
~̀

ei~κ
~̀
∑
~d

b̄~d e
i~κ~d

=
∑
~̀

ei~κ
~̀
FN (~κ)

(first line: alignement)

9



• Eq. (4.259):

FN (~κ) =
∑
~d

b̄~d e
i~κ~de−W~d

(~κ)

(the (~κ) at the end belongs to W~d)

• Eq. (4.262):

FM (~κ) =
∑
~d

1

2
g~d e

i~κ~de−W~d
(~κ)F~d(~κ)

〈
~S~d

〉
T

((~κ) is not “exponent“ of F~d)

• In the third text line after eq. (4.262):

F~d(~κ)

(no arrow on F )

page 104

• Eq. (4.263):

FM (~κ) =
∑
~d

1

2
g~d e

i~κ~de−W~d
(~κ)F~d(~κ)

〈
S~d
〉
T

(sign.σ~d)

((~κ) is not “exponent“ of F~d)

• At the end of the page: “,” instead of “.” after the bracket:

lattice),

page 105

• At the beginning of the page: lower case instead of upper case:

the nuclear. . .

page 106

• Eq. (4.276):

dσ

dΩ
=

1

4

(
γ

2

e2

mc2

)2

〈S〉2|F (~κ)|2 ×

×


[
1 +

(
~̂κ~̂e3

)2

+ 2
(
~P (i)~̂κ

)(
~̂κ~̂e3

)] ∣∣∣∣∣∣
∑
~̀

ei(~κ+~ε)~̀

∣∣∣∣∣∣
2

+

[
1 +

(
~̂κ~̂e3

)2

− 2
(
~P (i)~̂κ

)(
~̂κ~̂e3

)] ∣∣∣∣∣∣
∑
~̀

ei(~κ−~ε)
~̀

∣∣∣∣∣∣
2


(second line: ~̀ below the sum; third line: missing “i”)
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page 107

• Unnumbered equation:∑
i,j

e−i
~k′~xi~ε ′~pie

i~k~xj~ε~pj =
∑
i,j

ei
~k~xj−i~k′~xi~ε ′

(
~pi + ~~kδij

)
~ε~pj

(a “−” too much)

page 108

• Eq. (4.283): “4.” is missing in front of the equation number; and:〈
~L(~κ)

〉
T

=
−κ2

k2
· −1

2µB
~̂κ ∧

(∫
d3x ei~κ~x

〈
~ML(~x)

〉
T

)
∧ ~̂κ

= −2(1− cosϑ)
(2π)3

V0
~̂κ ∧

(∑
~τ

δ(~κ− ~τ)~FL(~τ)

)
∧ ~̂κ

(FL instead of FS)

page 109

• Eq. (4.285):

〈U2〉T = −η(1− cosϑ)
(
~̂k + ~̂k′

)(
~FL +

1

2
~FS

)
(a “+” instead of a “−”)

• In the list, instead of “=plane” (4 times):

-plane

• Eq. (4.288):

dσ

dΩ
= r2

e

{
1

4

∣∣∣(1 + cosϑ)Fc − 2iη sinϑ
(
(1− cosϑ)F⊥L + F⊥S

) ∣∣∣2
+

(
sin4 ϑ

2

)[
η2
∣∣∣(~̂k − ~̂k′) ~FS∣∣∣2 + η2

∣∣∣(~̂k + ~̂k′
)(

2~FL + ~FS

)∣∣∣2
+
∣∣∣Fc + 2iη sinϑF⊥L

∣∣∣2]}
(second line: a “+” instead of a “−”)

page 110

• Eq. (4.290):

dσ

dΩ
= r2

e

{1

2
(1 + cos2 ϑ)|Fc|2 + η sinϑ(1 + cosϑ)Im(F ∗c F

⊥
S )

+η sin 2ϑ(1− cosϑ)Im(F ∗c F
⊥
L )
}

(first line: a “+” instead of a “−”)

11



• Eq. (4.292):
2〈U3〉T = Fc(~κ)(1− cosϑ)

(a missing T as index of 〈〉)

page 111

• Eq. (4.298):

dσ

dΩ
P

(f)
3 = P

(i)
3

(
dσ

dΩ

)
unpol

+

+2r2
e

{
Re(〈V 〉∗T 〈U3〉T ) + Im(〈U1〉∗T 〈U2〉T )− P (i)

3

(
|〈U1〉T |2 + |〈U2〉T |2

)}
(second line: no ∗ on 〈U3〉T )

page 114

• Eq. (4.312):

µ(E) = 4π2n0e
2kδ(E + Eα − En)

{
P

(i)
1 Re [D∗x(Dy cosϕ−Dz sinϕ)]

−P (i)
2 Im [D∗x(Dy cosϕ−Dz sinϕ)] +

1

2

(
1 + P

(i)
3

)
|Dx|2

+
1

2

(
1− P (i)

3

)
|Dy cosϕ−Dz sinϕ|2

}
(missing final bracket “}”)

page 115

• In the text line after eq. (4.314), instead of “3j− symbol”:

3j-symbol

• Eq. (4.318):

∆µ(E) = −4πn0

k

{
Imf

(
E,P

(i)
2 = +1

)
− Imf

(
E,P

(i)
2 = −1

)}
= 8π2n0e

2kU2δ(E + Eα − En)

(P
(i)
2 instead of P i2 (twice))

page 116

• Eq. (4.320):

1

2
(1 + cos2 ϑ)

〈
n+n(t)

〉
T

+i
η

2

(
~̂k ∧ ~̂k′

) [
cosϑ

〈
n+~L(t)− ~L+n(t)

〉
T
− (1 + cosϑ)

〈
n+~S(t)− ~S+n(t)

〉
T

]
+
η

2
P

(i)
2

[(
~̂k cosϑ+ ~̂k′

)
(cosϑ− 1)

〈
n+~S(t) + ~S+n(t)

〉
T

+
(
~̂k + ~̂k′ cosϑ

) 〈
n+~L(t) + ~L+n(t)

〉
T

]

12



(last line: missing “+”; and alignement)

page 117

• Eq. (4.321):

Γαβ(~x, t) =
1

N

∑
~̀,~̀′

∫
d3x′

〈
δ
(
~x+ ~X~̀− ~x′

)
Sα~̀ · δ

(
~x′ − ~X~̀′(t)

)
Sβ~̀′(t)

〉
T

(a “−” instead of a “+”)

• Eq. (4.322):

Γαβ(~x, t) =
1

N

∑
~̀,~̀′

〈
Sα~̀ S

β
~̀′(t)

〉
T

∫
d3x′

〈
δ
(
~x+ ~X~̀− ~x′

)
δ
(
~x′ − ~X~̀′(t)

)〉
T

(a “−” instead of a “+”)

page 118

• Eq. (4.332):

Sz~̀(S
(+)
~̀ |S

′
~̀〉) = (S′~̀ + 1)(S

(+)
~̀ |S

′
~̀〉)

(S
(+)
~̀ instead of S~̀(+))

• In the text line after eq. (4.332): a “.” is missing:

S′~̀ + 1. Hence

• Eq. (4.336): [
a~̀, a

+
~̀′

]
= δ~̀ ~̀′

(a “′” missing)

page 119

• Eq. (4.345):
E~k = n~k~ω~k

(the last ~k is index of ω)

page 120

• Eq. (4.347):

S
(±)
~̀ =

1

N

∑
~k

e±i
~k~̀S

(±)
~k

(S
(±)
~̀ instead of S±~̀ (twice))

13



• In the text line after eq. (4.349):[
S

(+)
~k

, S
(−)
~k′

]
= 2SNδ~k~k′

(a “′” missing)

page 121

• Eq. (4.360):

Γαβ(~x, t) =
∑
~̀

γαβ(~̀, t)C~̀ (~x, t)

(the last ~̀ is index of C)

page 122

• Eqs. (4.362) and (4.363):〈
S

(−)
~̀ (0)S

(+)
~̀′ (t)

〉
T

=
2S

N

∑
~q

e−i~q(
~̀−~̀′)−iω~qtn~q

〈
S

(+)
~̀ (0)S

(−)
~̀′ (t)

〉
T

=
2S

N

∑
~q

ei~q(
~̀−~̀′)+iω~qt(n~q + 1)

(first line: t is not exponent of ~q; n~q does not belong to the exponent of e.
second line: a “+” instead of a “−”; t is not exponent of ~q; (n~q + 1) does not
belong to the exponent of e)

• Eq. (4.364):(
d2σ

dΩdE′

)(±)

= r2
0

k′

k

(
1

2
gF (~κ)

)2 (
1 + κ̂2

z

)
e−2W (~κ)S

2

(2π)3

V
×

×
∑
~q,~τ

(
n~q +

1

2
± 1

2

)
δ(~ω~q ∓ ~ω)δ(~κ∓ ~q − ~τ)

((2π)3 instead of (2π))

• Eq. (4.366):〈
Sx~̀ (0)Sx~̀+~r(t)

〉
T

=
〈
Sy~̀ (0)Sy~̀+~r

(t)
〉
T

=

=
S

2N

∑
~q

{
(n~q + 1)e−i~q~r+iω~qt + n~q e

i~q~r−iω~qt
}
∼ S

N
cos (~q~r − ω~qt)

(size of the brackets {})

page 125

• In Ref.1: instead of “An-dover”:

Andover

14



page 128

• Eq. (5.3):

H = H(S) +H(P ) +Hint(t)

= H0 +Hint(t)

(first line: (t) is not index of Hint)

• Third text line after eq. (5.5), deleting “and H(S),”:

H(P ) and H(S), which form a vector space:

page 129

• Eq. (5.16):

eiHt/~ = e
i
~
∫ t
−∞Hint(τ)dτei(H

(P )+H(S))t/~

(a “−” too much)

• In the text line after eq. (5.17), instead of “V̂i”:

Vi

• Eq. (5.18):

%(P )(t) = e−iH
(P )t/~Sps

{
e−

i
~
∫ t
−∞Hint(τ)dτP (i)e

i
~
∫ t
−∞Hint(τ)dτ

}
eiH

(P )t/~

(a “−” too much)

page 131

• Eq. (5.26):

WαV α = lim
t→∞

1

2π~

∫ t

−∞
dt′ ei(E

(P )
m −E(P )

m′ )t′/~ei(E
(S)
n −E

(S)

n′ )t′/~WαVα

= δ
(
~ω + E

(S)
i − E(S)

f

)
WαVα

(alignement)

page 133

• Eq. (5.37):

∂t%
(P )(t)− i

~

[
%(P ), H(P )

]
=

= − 1

~2
e−iH

(P )t/~Sps

{∫ t

−∞
dτ ′
[
Hint(t),

[
Hint(τ

′), P (i)
]]}

eiH
(P )t/~

(a “−” too much)

15



page 135

• Eq. (5.53):

Biknm = −Bnmik =
∑
`

c`ins
`
km

(Bnmik instead of Aikmn)

page 136

• Eq. (5.61):∑
νν′

Sps

(
M̃µµ′;νν′%

(S)
equ

)
%

(P )
νν′ =

∑
νν′

〈M̃µµ′;νν′〉T %(P )
νν′

(T is index of 〈〉)

page 140

• Eq. (5.88):
p1(τ) + p2(τ) = const. = 1
p1(τ)− p2(τ) = Ae−2Wτ

(second line: τ is not exponent of W )

page 141

• In the eighth text line after eq. (5.94), instead of “µ̄e(~xi)”:

~µe(~xi)

page 144

• Eq. (5.117):

%pol =
∑
i,j

χij

(ω
c
kiAj − kikjΦ

)
(kj instead of Aj (only once))

page 147

• Eq. (5.140):

%(S)(t) = e−iH
(S)t/~Spp

{
e−

i
~
∫ t
−∞Hint(τ)dτP (i)e

i
~
∫ t
−∞Hint(τ)dτ

}
eiH

(S)t/~

(a “−” too much)

page 149

• Eq. (5.153):

K̃αβ =
1

~

∫ ∞
−∞

dω′
∑
n,m

δ(ω′−ωm+ωn)
e−β(~ωn−F )

ω′ − ω + iε
(1−e−β~ω

′
)〈n|Jα~κ |m〉〈m|J

β
−~κ|n〉

(
∑
n,m before δ(), not afterwards)

16



page 150

• Eq. (5.162):

−g〈Q〉T δΛ + gβ〈∆H∆Q〉T δΛ− 〈∆H∆H〉T δβ

(“〈〉” instead of “()”)

page 151

• Eq. (5.165):

1

2π

∫ ∞
−∞

dt e−iωt〈Q~κ(0)Q−~κ(t) +Q−~κ(t)Q~κ(0)〉T = 〈Q2
~κ(ω)〉T

(without the brackets “{}”)

• Eq. (5.167):

−~
π

∫ ∞
0

dω ImK̃(~κ, ω) coth

(
~ω

2kBT

)
= ~

∫ ∞
0

dω S(~κ, ω)(1 + e−~ω/kBT )

(on κ: arrow instead of tilde (twice))

page 155

• Eq. (5.183):

K [αβ] =
i

2
(Kαβ −Kβα)

(“[ ]” instead of “{}”)

• Eq. (5.186):∑
n,m

e−β(~ωn−F )(1− e−β~ωmn) · 〈n|J |m〉〈m|J+|n〉δ(ω − ωmn)

(mn are indices of ω)

page 157

• In the forth text line after the figure:

K̃(ω + iε) = K̃∗(ω − iε)

(∗ is “exponent” of K)

page 158

• In the text line after eq. (5.195):

K̃∗(ω) = K̃(−ω)

(∗ is “exponent” of K)

17



page 159

• Eq. (5.203):

Φ~κ(t) = i

∫ ∞
−∞

dω eiωt[1− e−β~ω]S(~κ, ω)

(~κ is index of Φ)

page 160

• Eq. (5.207):

[%~κ, H] = i~%̇~κ = −~
∑
i

ei~κ~xi
(
~κ~pi
m

+ ~
κ2

2m

)
(~κ is not index of i)

• Eq. (5.208):

[[%~κ, H], %+
~κ ] =

Ne~2κ2

m
(~κ is index of the first %; “+” is exponent of the second %)

• Eq. (5.210):
1

~
∑
n

ωn0|〈0|%~κ|n〉|2

(0 is index of ω, together with n: ωn0)

page 161

• Eq. (5.217): ∑
~κ

4πZe2

κ2
%~κe

i~κ ~X

(~κ is not index of i)

• Eq. (5.222):

W =
∑
~κ

∫ ∞
0

d(~ω)W (~κ, ω)δ(ω − ~κ~V )

= −Z
2e2

π2

∫
d3κ

κ2

∫ ∞
0

dωIm

(
1

ε(L)(~κ, ω)

)
δ(ω − ~κ~V )

(first line, below the sum: arrow on ~κ)

page 162

• Eq. (5.226):

%̈~κ =
∑
i

ei~κ~xi
(
~κ~pi
m

+
~κ2

2m

)2

+
2πe2

~

∑
i

ei~κ~xi
~κ~pi
m
,
∑
~q

%+
~q %~q −N
q2


(missing “=”)
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• Eq. (5.228):

−4πe2N

m
%~κ = −ω2

p%~κ

(missing “−”)

page 163

• Eq. (5.229):

%̈~κ + ω2
p%~κ =

∑
i

ei~κ~xi
(
~κ~pi
m

+
~κ2

2m

)2

− 4πe2

m

∑
~q 6=~κ

(~κ · ~q )
%~κ−~q%~q
q2

(missing “=”)

• In the fifth text line after eq. (5.229):

O(κ2V 2
F %~κ)

(~κ is index of %)

• Eq. (5.119):

ε(L)(~k, ω) = 1− 4πe2

k2
κ(L)(~k, ω)

(a “−” instead of “+”)

page 164

• Eq. (5.236):

Φ(~k, ω) =
Φext(~k, ω)

ε(L)(~k, ω)

(missing “=”)

• Eq. (5.240):

K̃(L)(~k, ω) = κ(L)(~k, ω) + κ(L)(~k, ω)V (~k)κ(L)(~k, ω) + · · ·
= κ(L)(~k, ω) + κ(L)(~k, ω)V (~k)K̃(L)(~k, ω)

(second line: κ(L) instead of k(L))

page 167

• In the text, instead of “ε(L)(~κ, ω)” (3 times):

ε(T )(~κ, ω)

• Eq. (5.247):

~J(~κ) =
∑
i

(
~pi
m

+
~~κ
2m

)
ei~κ~xi − e

mc
~A~κ(t)Ne

(~κ instead of ~k; last ~κ is index of ~A)

19



• Eq. (5.248):

κ(T )(~κ, ω) =
1

~
∑
n

|〈0|~ε~j |n〉|2
{

1

ω − ωn0 + iη
− 1

ω + ωn0 + iη

}
+
N

m

(without last bracket “)”)

page 168

• Eq. (5.249):

ε(T )(~κ, ω) = 1−
ω2
p

ω2
−8πe2

~ω2

∑
n

|〈0|~ε~j(~κ, ω)|n〉|2ωn0

{
2P

1

ω2 − ω2
n0

− iπδ(ω2 − ω2
n0)

}
(at the end: δ(ω2 − ω2

n0))

page 169

• In the text line after eq. (5.255): instead of “(5.252)”:

(5.212)

page 170

• Eq. (5.257):

~∇∧ ~B =
ε

c
∂t ~E +

4πσ

c
~E

(∧ instead of Λ)

page 171

• Eq. (5.265):

η =
Re( ~J∗ ~E)

| ~E|2
= 2nκ

ω

c

(n instead of π)

page 173

• In Ref.6: instead of “Noziéres”:

Nozières

page 176

• Eq. (A.8):

ψ(~x) = ei
~k~x − m

2π~2

∫
R3

d3y
eik|~x−~y|

|~x− ~y|
V (~y)ψ(~y),

(a missing “−”)

20



• Eq. (A.10):

f(~k′,~k) =
−m
2π~2

∫
R3

d3ye−i
~k′~yV (~y)ψ(~y)

(a “−” too much)

page 185

• Eq. (A.84):

U(t, t′) = 1− i
∫ t

t′
dτVI(τ)U(τ, t′)

(U(τ, t′) instead of U(t, t′))

page 186

• Eq. (A.87):

〈χ|S|ϕ〉 = 〈χ|Ω+
−Ω+|ϕ〉

= lim
t→∞
t′→−∞

〈χ|(eiH0te−iHt)(eiHt
′
e−iH0t

′
)|ϕ〉

= 〈χ|UI(+∞,−∞)|ϕ〉

(t′ is exponent of e, together with iH: eiHt
′
)

• Eq. (A.90):∫
Ω

d3k′
∣∣∣〈β,~k′|(S − 1)|ψα, ϕi〉

∣∣∣2 , where

(size of “〈〉”)

page 187

• Eq. (A.98):

dσ
dΩ = (2π)4ω′2

c4~2

∣∣∣〈β,~k′|T |α,~ki〉∣∣∣2
Eβ + ~ω′ = Eα + ~ω

(the second line is missing)

page 189

• Eq. (A.107):

Sp
{

Tr
(
F %̃(i)F+

)}
= Tr

(
%(i)Sp(F%αF

+)
)

= Tr
(
%(i)〈FF+〉T

)
(%(i) instead of %i)

• Eq. (A.108):

dσ

dΩ
= Sp

(
Tr%̃(f)

)
= Tr

(
%(i)〈FF+〉T

)
(Sp instead of SP)
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• Eq. (A.109):

~P (f) =
Sp[Tr(~σ%̃(f))]

Sp[Tr(%̃(f))]
= 〈~σ〉out

(Sp instead of SP (twice))

page 190

• Eq. (A.115):

〈V +~U〉T + 〈~U+V 〉T − i〈~U+ ∧ ~U〉T
+ ~P (i)〈V V + − ~U ~U+〉T + 〈~U+(~U · ~P (i))〉T + 〈(~U+ · ~P (i))~U〉T
+ i〈V +(~U ∧ ~P (i))〉T + i〈(~P (i) ∧ ~U+)V 〉T

(no arrow on the last V )

page 193

• Eq. (B.15):∣∣∣∣∣∣
Z∑
j=1

e−i~q~xj

∣∣∣∣∣∣
2

=

∫
d3x1 . . . d

3xZ w(~x1, . . . , ~xZ)

∣∣∣∣∣∣
Z∑
j=1

e−i~q~xj

∣∣∣∣∣∣
2

= F 2
inel(~q )

(
∣∣∣∑Z

j=1 e
−i~q~xj

∣∣∣2 instead of
∣∣∣∑Z

j=1 e
−i~q~xj

∣∣∣2)

page 194

• In the text line after eq. (B.20): instead of “Figure B.2”:

Figure B.1

page 204

• Eq. (D.3):

~ML(~x) = − µB
4π3

∫
d3κ

1

x

∫ ∞
x

dξ e−i~κ(ξ~̂x)Π(~κ)

(a missing “−”)

• Eq. (D.4):

Π(~κ) =
1

2

∑
j

[
ei~κ~xj ~̀j + ~̀

je
i~κ~xj

]
(a “−” too much)

• Eq. (D.6):

~Λ(~κ) =
1

2

∑
j

[
h(~κ~xj)~̀j + ~̀

jh(~κ~xj)
]

(without big “()”)
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• Eq. (D.8):

~Q
(L)
⊥ (~κ) =

−i
~κ2

ei~κ~x(~κ ∧ ~p) =
m

i~2κ2

[
H, (~κ ∧ ~x)

1

s
(eis − 1)

]
+

1

2
~̂κ ∧

(
~Λ(~κ) ∧ ~̂κ

)
(no arrow on κ2)

• Before last unnumbered equation:

~̂κ ∧
(
~s ∧ ~̂κ

)
and ~̂κ ∧

(
~Λ ∧ ~̂κ

)
∼ ~̂κ ∧

(
~̀∧ ~̂κ

)
(first eq.: ∧ instead of Λ; second eq.: ~Λ instead of the “void arrow”; ∧ is not

index of ~̀)

page 205

• Eq. (D.10):

ei~κ~x = 4π

∞∑
L=0

L∑
M=−L

(i)LYML
∗ (
~̂κ
)
YML

(
~̂x
)
jL(κr) (r = |~x|)

(last L is index of j)

• Eq. (D.12):

Y m`

(
~̂x
)
Y m

′

`′

(
~̂x
)

=

∞∑
L=0

L∑
M=−L

[
(2`+ 1)(2`′ + 1)(2L+ 1)

4π

]1/2

YML
∗ (
~̂x
)
×

×
(

` `′ L
m m′ M

)(
` `′ L
0 0 0

)
(alignement)

• Eq. (D.14):

〈`msms|sqYML |`′m′sm′s〉 = (−1)(`−m+s−ms)
(

s 1 s
−ms q m′s

)
×

×
(

` L `′

−m M m′

)
〈s‖sq‖s〉〈`‖YL‖`′〉

(second line: a “=” too much)

page 207

• Eq. (D.25):

〈`m|Λq(~κ)|`′m′〉 =

= 2π
∑
L,M

(i)LYML
∗ (
~̂κ
)
〈`m|gL(κr)

[
`qY

M
L

(
~̂x
)

+ YML

(
~̂x
)
`q

]
|`′m′〉

(second line: size of 〈〉)
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• Eq. (D.28):

〈`m|Λq(~κ)|`m′〉 =

=
√
π
∑
L,M

∑
L′,M ′

(i)LYML
∗ (
~̂κ
)
〈gL〉``(2`+ 1)

√
`(`+ 1)×

×
(

1 + (−1)1+L+L′
)

(−1)m[`, L, L′]1/2〈1qLM |L′M ′〉 ×

×
(
` L `
0 0 0

)(
` ` L′

−m m′ M ′

){
` ` L′

L 1 `

}
,

(in the {}-brackets: 1 instead of ` (only once))

• Eq. (D.29):

〈`msms|Λq(~κ)|`m′sm′s〉 = {〈j0〉`` + 〈j2〉``} 〈`m|`q|`m′〉δmsm′s

(` instead of `′ (twice))

page 208

• Eq. (D.39):

Y 0
L

(
~̂κ
)

=

(
2L+ 1

4π

)1/2

PL(cosϑ) with PL(cosϑ)
∣∣
ϑ=0

= PL(1) = 1

(a missing “=”)

page 210

• Eq. (D.44):

〈`msms| ~Q(D)
⊥ (~κ)|`m′sm′s〉 =

= 〈`msms|~̂κ ∧
{[
〈j0〉~s+

1

2
(〈j0〉+ 〈j2〉)~̀

]
∧ ~̂κ
}
|`m′sm′s〉,

(first line: noˆon the first ~κ; second line: ˆon the last ~κ)

page 217

• Eq. (F.7):
%′(~x) = %(−~x)

(no “′” on the second %)

page 219

• In the first text line:

Θi = −iΘ,

(i is not index of Θ)
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• Eq. (F.28):
〈~p ′|S|~p 〉 = 〈−~p |S| − ~p ′〉

(a missing “−”)

page 222

• Eq. (G.6):

Im G̃ij(ω) = − πδij
2MΩ0

[δ(ω − Ω0)− δ(ω + Ω0)]

(a missing “−”)

• Eq. (G.9): ∑
ν

[h(ων)a+Aν + h∗(ων)aA+
ν ]

(A instead of V )

• Eq. (G.10):

i∂tG = δ(t)〈[a, a+]〉T − iΘ(t)〈
[
[a(t), H], a+

]
〉T

(a “〉” too much)

• Eq. (G.12):

Aν(t) = Aν(0)e−iωνt − ih∗(ων)e−iωνt
∫ t

0

a(τ)eiωντdτ

(in the last exponent: a “−” too much; τ instead of t)
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